K B EH &

D FrEKEE(G%TFKER) 5,00 m

Q@ L2XMEEEERKE (HX1.05) X 1.06= 0

Q) FE~KFAXTOBEE + =

@ £XEHERKE (D+@+3) + + = m=  20m

. EXERESHE—S

B |BFTRU[EERL| EEds | A (v TU—| IMER | KESR | FRUE | BUK |(R1S5—] A B C D E F G H
3=

s = 3 |E_| H% = 4 IZFEﬁ*E%II IZFIE?JE}?%

X 8 7 =5 E4¢ —|E AR | X|Eh 7K B Bl = = =

12 a5 |12 w5 |8 w5 |20 a5 |8 w5 |15 s [12 ws| 5 ws |15 w5 |16 ws XRAEE R Mg m o= = |0 Bl e o S 18 5k ok o

X[ B R=|E RE|E AE(E RE|E RE|B RE[E RE| B A2[E RE|E RE|Vm @/s) & (AXC) &/m[ M %o m (FXG) M

N BN Y N N N N N N N BN Y S I I

N B N Y S N N NG




